., b
g J
= .Su.smw ud -lqm...l
ao t e -
B1p 241m) mm, a\m_:lr. | e
yr¢0d, 2 pptag 2 i |
£9 b/ 354 ot t |
Q\anmJ 8 i
B ol
A “.__ i L I--mv..l
. |
MOYS 417 04 fj14q ./ ¥ _
R T m_v s
)1 2 | |
8.
M\
£FPHS o O J/AT = m\ i

£9y G .w _
J QDEQ

POy S mw 1o/ S H 40U
. lpy opT




Qma% S el
\m\\cﬁw\ kt%&}umemo“ﬁ 2147

R i
1 R L :
B
S
N..\ R l\L |||||| K77 |L|
% M Th e
Pl AR
__
% SUBQ Jwuny \E&\
UCIL2/2S SRl - A3{ % 21T |
butivag 1ing 0/ ! | 1Jw ]
H0L124LUf DU1LYIDI// \\_QQ% pal LY OO Y,
\\...\_11 _
Z AT _
L el
A R
, | i
Tl e, |
A7 by o Ly - -
136 129 UN- sm- | -




/ "LUone :

5 oy : : / ‘wons
A0 DI TAOULS oy s ppay Pyt ol
ddno ; _ "~
: | Uon FR i Ruum.\ \Im\_.ww Ay _ Bl #1340
40/ HHEIPY PYL Ll M‘. = 11 — +
Pt 4IPT L . = 22
Aeipmia e
Bzl i ik “_ |
= = . o
B = ;
N x-
@ o/
: ﬁ ,_m I
& g 6 eE ey =
=] = i
E
= == L i o i
i fieh e j
B B 1 Tf ¢/ il ® AH LA
T e | | e
e rm.. i L L DS S T N T Y
€ | - nyw_..l i e Bl 45
i3 -m\ \\QQW IS i
g z” e




pIpr2YS PG
U SPAlLAT7 pBY Qkomw

p2y0040ds ,
i Do | A woys iy IO
: S o ] = I
ﬁw_ O, ‘ | =
1 el \\/ i
J o oA S |
| | ﬂ__ \&/ auy] FAG
s JH_ | R @@ wﬂ vregy 18jjey &W
! o i
T ,
| ’ "
, ; 7= | % _ .“.\&v\w_nu\h\md \b\mu k..u,
N 5 -, OF 8

o

/o

(2602) A1FYS 12 294G >



e ;
o 6 &0

suzjjoy s4/47 1A b

urbt/ 7
\Q.G&Q%% \ 2 |

ooy SATIY

LY AThNO
ar g

#2¢é

7/



: = uond 4 = wong)

qbul ZnZx2 [HOU en by Uegni 1P
e 77 & # B WSS NS ...% al== il
2 t\i S gl P
— M.\\ v’g Tm. \ td— ! \. 3 W \.WJ |/ -.-IMI\N" \luls\\ llw\.wj.ﬂ_ ot
TR RN ¥ S SR — gy m—
S e S \\\\.\Q% * s = = — 2 2
dunoyy busg o SOl biurdvesy
‘ " _w___ umv 7" m\
. won _ _ Z und
ybiy xmxw 1o Gl B EFIU
Pt v\ﬂ R \ GIREEREI
774 opim € yose |
* i g e
& el N '
.INM\ ﬁ/ =2 hFh.h l.m_ﬁ.! l‘l_ml Fmﬁ..ib e
i seatn il e e =

AN ODACT QQQ\\Dmm% LA AUNOL// QQ\%Q‘N 7



#
%mUb\Q\N i “‘ | M\Qag
e g e
< s G i : St
Sy / 2.1
b0 S AT i
0L 11147 £~
| SIS 4O 777
_ e Ry Sy L
HOYL Mo #
e \\,\.\\Q £ [/
e R |
/ ‘ g L_
M z L
g £) b | 6/ u

=




0% =

swWl3Q |10 p)E7) L) wond

S| UIbLS ©I I/ | [FOU
\wn@@\x

e




%\x\\ u\q AQ 96/ Ut U2 4SOy
e ] Suens
- ady 2

L_|

|
|
.
_
_
_
_
|
_

]
|
_
*
_
_
_
|
_
_
_
_
_
_
_

*
_
_
|
_
(|
_
_
,
_
_
_
.

T — — — — =— — = =0
— o — —— e —

oy

2

uly by

_

T

I

|

|
__“ ‘vond.
“ T &S\ﬂ 7y ‘\Q Jopsuy
it 29 vl
t " ‘ o/ PYCl ;W.. ;

It

il

I

I

b




SpUION I P13 (P40l
jo3Ys §53/U045 GO I/

2 wony 247D \\B%ka\hu ,..,_
S8 eY 1Y
3p!Q .
T i | 17 wond
- 0T AU L
| |
et \ w PG 3 | uonk
i /\ g 228 29 Tl
: ) wonp 2 mgm S 4Dy
S'S DI | +OUU
£UOAS
%/
i
\\.\ /
_,ww s la || semme s Ml Raae
13 | 43 _\\\\\Q ¢_I ) _ .\?.. \\\\QW\
P B Al o G e s e = (il i il
i el
= oy 2/ R L it o TR 5 <13
$25044 7 % i g 7/ L g 2 N\ ¢290/4 2
.QWNI\ ! %m W gL | L .D\me\
* |l
2 e
WS Wx:\ o 5 Rt 4




SpIoP It P12
AET LT

Lo o

fo)y W \myx \m.\

(2) §6UlY aNl4T

/y\%/\m\,ﬂ“!

AXTXXXY

=< i ol

~

() $IH -€00E™ 9TA/

0 9/ PSSO, S ng%\x\b&\.%

H 1O FfE iy MS
JAD JOL3YY Papuods T




pasoy spr “IE [P0

*Q\muﬁ% buigny &S Fxzxg 2

A0 f&UC) 2L Q\DQ\

224/ /
T /(43T 228 =4
Sy %
A
e L |5 (R
T i u.m‘l Ersie
gL
5 =
E
7 il i e g oty ot vl _11..|w.
\\\k\qmu 1\ (<
Ao SN Fn EEXF) (AU TEL _
DI = 7 T B 5
‘ 4,5 s Oy 4 sl b g o




2! WM\ m..\m_ WL Of \Qm\w\wxﬁ S4P) O

oy az posn poy wx> B £
@ /01 >45m pospy S[FY(7) |
i 1 _T | il 1240/
e , | !
I mx&\ 220 (3/%p \ \\Q s
. x \ % /{J
i . : niyﬂ, -
"r.-m m " @/(w\.m.Quwm\\\\m\
| | ool ol 1
| i pois
] | —
f_rl_, D 1D .wm%!\f-w : y
: e~ s KQBQR\ n&\\?\m
\\S\Q @\I\ _ | i) WV 710137 999
saop/d 2 e .ﬂ . mewQ\m%\mMQMMJ :
Vs 14T E o
. s220/d' 9 NRE-
,\%\ \\\\Q% i
h i
J_ Tw@l.ﬁ.Tw\ 2ot ﬁ
| 4+ N ——} Tk i R
=g ik |
i . . l , UGT7IoAZ] 5




£/ /4 Q n\\\.\Q .mm | - 0/ ||L
2/
rms\
A R e ] :
e S e e ‘ £
(s = BRI ﬂ = == t===0] 1 ]
=i TR R e
| ,
_ 3
e , |
= kiiid e
2/PUD}/ | b o B A
| E Taw\ /)4
X\, | } = -t hlh
1 e L e | e R
‘ L_r _J_r+1l_r Cllg L R ===t f
el & e
e
£F o %/ e — D —m
U

o@oa-] UIol /]




_.”...”.wrh
Sl

l i b
2l rd - e |
g fl b
H 57 B I T
4949 542 ; ecagB
/0 8~ | , .% i R
it z // tQ .% ] g
Ce s K . 5 \ il x/_ |
+0L7 S H 1Ol : f27 95 i S ¥ /av |
- g dpr - 2l N
— , ..r u..l.u,.
> wony K O pAUIY 8548
SOIINOLE ) LOLY 5 __,Q\ / Spua uo pIny gT buqn
Aoy f oy ﬁ\uoﬂ.\% _ Y eI e S TR R
| RYO004L7 # PE0) (7 Y\Q\\&u ol
ULY 207 MU 455 %.mJ "DhS —~ Gl -
YOOLP A2y §Sa/UB4S i d ol g,
gl i
e , -
g B i L
& | (B
N
pAgag T i Wi s g T Gl
e m,\ﬁw\.w.mﬁ%h, 0 OQ_ 259/ .\Q\\\wﬁs |
mmc U 0Z-4 L g YL 4 Ll LA




| S6o/U4S PD 9/ Y FOLY

i '“1&_ :
n

D

/] wond | ont ”

Uy po3S

e

/
S20) e, Q M.O

/f

L= \i

200/~ U) IS [
2R Y-,

S.0f U

2z .
A
Yok e e o




CUCUMBER SEED EXTRACTOR - BILL OF MATERIALS

Item Quantity

3/4" pillow block bearing 10
3/4 x 1 5/8" ball bearing
#40-B-18 sprocket idler
" #40-B-24 sprockets, 3/16" keyway, 1/4-20 U.N.C. set screws
#40-B-10 sprocket, 3/16 keyway, 1/4-20 U.N.C. set screw
4.95 x 3/4 B-section, V-belt pulley, 3/16 keyway, 1/4-20
U.N.C. set screw 1
4.95 x 3/4 B-section, double V-belt pulley, 3/16 keyway,
1/4-20 U.N.C. set screw
2.0 x 3/4 B-section, V-belt pulley, 3/16 keyway, 1/4-20
- U.N.C. set screw |
B-section V-belts, 34" 2
2
1

— W WP

[e—y

Pneumatic wheels, 10" w/5/8" I1.D. bings
Gasoline engine, 3-hp w/6-1 gear reduction

2" x 1/8" SQ tubing 35'-0"
2" x 2" x 3/16"" angle iren 4'-0Q"
1L" x 1%k" x 3/16" angle iron 1'-8"
2o 2t iy /8 angle iren 0'-5"
1" x 2" x 14 ga. Rect. tubing 21=5"
1%" x 5/16" H.R. flat iron 0'-6%"
IYox. 3y8" H.R, Flat iron 0'-1 3/8"
16" x %" H.R. flat iron 0'-7%"
LMol ReSflat ireh =7
14" x 3/8" H.R. Tlat iren 4'-5"
1%" x %" Alum. flat 10'-0"
3/4" dia. C.R.S. 14'-6"
1 7j8Y dia  GaR.S. ; or-2"
4%" dia. Alum.' round 0'-6"
16 ga. stainless steel 3/4 Sheet
3/4" iron pipe 6'-1"
k" iron pipe 3 1'-7 3/8"
% x % sq. stainless bar 14'-0Q"
Stainless steel plate - 3/16" thick l-sq. ft.
3/4" set screw locking collar 4
5/8" set screw locking collar 3
3/4" stainless set screw locking collar 4
Stainless steel tubing 6" x 1/8" 2'-6"

Expanded metal, 16 ga. alum. style 3/4 x 1%,
.081 H., nonflattened. Tyle 3003-H14

%-13 U.N.C. Thd. rod 0'-6 3/4"
3/8-16 U.N.C. thd. rod 0'-6 5/8"
=20 U.N.C. set screw ' 9
Spring =6 7/8" f.1., 3/32 dia. wire, 2" pitch
3%, 1
%-20 U.N.C. x 2% rd. hd. slotted bolts & nuts 6
3/8-16 U.N.C. x 2" bolts & nuts 4
3/8-16 U.N.C. x 4" bolts & nuts 4
B x 13 U.NCo x 4" bolt & nut 1
L x 13 U.N.C. x 2:" bolt & nut 1
3/8-16 U.N.C. x 4" carriage hd. bolt & nut 8
- 3¢/8-16 U.N.C. x 1" carriage hd. bolt & nut 12
Roller chain, A.N.S.I. #40 104



